Ratio to ATLAS

1/0d%/ d N d m™™ [1/GeVv]

|
o
@

-
<
D

0.5

13000 GeV pp tt

[T I T I T | T I I I I | T I T I T I T I T |_ 9
_ _ _ 13
— M(ttbar) (ATLAS semileptonic ttbar) 13
- 1=
- m  ATLAS o
| & Pythia 6.428 346 A
Pythia 6.428 347 2
Pythia 6.428 348 .
— Pythia 6.428 349 o
~ A Pythia 6.428 370 2

— ‘ —
)
_| ™M
@
(40)
S
o
(49)
—
1=
1%
18
1<
| O
=
1o
3!
)
- 7%
o
(&)
| | | | | | | | ' | | | | E

: T | T T T T | T T T T |:
— -2

| —0.5
1 " | " 1 1 1 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

mtbar{t} [GeV], I\FXtrajet — 1



	Contents
	Page 1


